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2019 (A) A

SSC PART- (9th CLASS)
coMPUTER SCIENCE (NEW SCHEME)  ( 2015-2017 o) (F2) And
GROUP-| bt < oS
TIME ALLOWED: 1.45 Hours SUBJECTIVE ¥Le 145 =
MAXIMUM MARKS: 40 40 = AF

NOTE: - Write same question number -4.6»&;.{."0’.@5{ Z'/JJ/,].’OZJ”/.‘)’MJ{Q(QM -y

and its part number on answer book, as given in the question paper.
SECTION-l Js.e

2. Attempt any four parts. 8=2x4 .ﬁﬁ'(/’apzélzugc.éf 240
1)) Who was John Napier? !‘Juf/.f'uk ()
(i)  Define Digital Computer LIBFAE i
(i) Describe the Third Generation of Computer _.,g/:yyfu’-%d/f&’r;" (iil)
(iv)  Write names of the two types of Personal Computer. -.,,:"Ptéraﬁmd);_-fj’( {iv)
(v} Whatis Hard Copy? i W
(i)  Define EDP /S EDP (i)
3. Attempt any four parts. 8=2x4 - el Y 34y
(i) Define Soft Copy = .Q/JJQ(.')V (i)
(i)  What is ROM? fetfpe ()
(i) What is meant by Data Rate? e ccds (i)
(iv)  Wnat is meant by High Level Formatting? e el ndod (i)
(v)  Describe Octal Number System. -g‘ﬁ'g-,-l_uf'hﬁdm.)’r" (v)
()  What is meant by Alphanumeric Data? el tiSei (Vi)
4. Attempt any four parts. 8=2x4 -é(i:—#’ﬂﬁlztzycéf A7)y
(i)  Whatis meant by Boolean constants? fe e o B2 (i
()  Whatis DOS? fe{ DOS (i}
(i)  Whatis the purpose of CLS command in DOS? S LR CLS St (i)
(iv) Whatis Start Button? teVifet ()
(v}  Define Window Deskiop. LIl ()
(vi)  Define Anti Virus. LI i)

SECTION-I (3.2

NOTE: - Attempt any two questions. 16 =8 x 2 Efepl e 3 o)
5 Write a note on serial port and parallel port in detail -g}.'.'ﬂ-:«!u-‘i.'—/;\”'?u'—"#{u!;f <5
8 Whatis Printer? Write its two main types AROESE e 8
7 Simplify the Boolean function using K-map -_,_'.{}'g"f’:;‘:'i,c_ wl (K-map) w-L B

fX y)=X.y+ X.y+x.y+ x y
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SSC PART-l (9th CLASS) \

comMUTER SCIENCE (NEW SCHEME)  ( 20152017 % ) (£ 2) Fnd
GROUP-I b - 1)
TIME ALLOWED: 1.45 Hours SUBJECTIVE _UL» Z145 = =
MAXIMUM MARKS: 40 40 = AF

NOTE: - Write same question number -q.b»gﬂ{.{.é'rﬁé: (-,J:/.‘;Zulf.’?dln}:{db’dm Sk

and its part number on answer book, as given in the question paper.
SECTION-l sle

2. Attempt any four parts. 8=2x4 L iz 8 24
{1 Which technology is used in Second Generation of Computer? ‘.‘J:rJvz’IJ:‘u?f;ﬁ,‘.'.;’f ZJ/y;J}{-f’ (i)
(f)  What is Mini Computer? e E’/'rfz'” (1)
(i) Whatis the use of computer in Education? Te_-g_fdvﬁb’);:.‘:;.’,-f‘; (i)
(v) Define Computer Program. LIwf St )
(v)  Whatis CU? ey cu (v
(vi)  Write down two major functions of Computer. -.;.‘iuw-_zué.’r;’ (vi)
3. Attempt any four parts. 8=2x4 -g{{}’auzﬁlzl/yr,df 2340y
()  Define Keyboard. Ewlugd (i)
(i)  Whatis Volatile Memory? e Yt Seiss (i)
(i} Define Data Rate, Lol (iif)
(v}  What is Cache Memory? WUt ()
(v)  Define Data. Sy W
(v)  Convert 185, into Octal. VA0 b 1854y (W0
4. Attempt any four parts. 8=2x4 -ﬁ(ﬁ&'ﬁﬁlzwc_df 44y
()  What is Boolean Algebra? "9\;(!/:‘.'0311 (i)
(il Why DIR command is used? ‘e JQJJP:"UE’%' DIR ()
(i)  Write basic operations of System Software. - JJ’!J@& Fr (il
(iv)  How does Computer gets Virus? tetidumsid ()
(v}  Describe the usage of Directories. LA Ay W)
(vi)  Wnte the properties of Windows Explorer -4‘7.-..'_/;’4& = ik (vi)

SECTION-II (5.0

NOTE: - Attempt any two questions. 16=8x2 -{.':zf:a&'zé:.mmc.éf .
5 What is Port? Explain Seriai and Parallel Port Sl U;J.;J;J ot o e si -5
8. Write a short note on Line Printer and Dot Matnx Printer -4‘1.:, if‘i‘.'; )-‘.‘./,(Z.-.U 2 ,,'-',;,;"'u -8
7 Draw the truth table of the following function:- - f’h.}‘;’:h’.;r“ﬁé{..- -7

fix.y)=x.y + ;.y
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NUMBER: 1831 SSC PART- (9th CLASS)

—. - .
COMPUTER SCIENCE (NEW SCHEME)  ( 2015-2017 o ) (F2) Sowd
GROUP- by -/
TIME ALLOWED: 15 Minutes OBJECTIVE (%o o215 =
MAXIMUM MARKS: 10 10= AF

S ht /A):?’;JW&WL.,«M:/»;J u;h:éé.a&b-&dw;{q{dlz BLisDHCBA -:-Pl;ﬁ*éd‘r/t ROY,
G4 KIS R 2 SIS Sostty PP pirdbife eSS S § LS prmiie i 5
Note: you have four cholces for each objective type question as A, B, C and D. The choice .Qf;J'):gaMr
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) were used in Third Generation Computers. LS EIE RS E ()
(A) Vacuum tubes zz'(J: (B) Integrated circuits u‘f/hﬁ'
(C) Transistors 2~ (D) Microprocesscrs 321,54

(2) Types of Computers are;- -u}ru'd’)t! (2)
(A) 1 (B) 3 (C) 2 (D) 4

(3) Which of the following is not a type of computer bus? IS e S ()
(A) Databus &} (B) Powerbus /sl (C) Address bus (AU24! (D) Control bus s~

(4) Which of the following is type of Keyboard keys? Se (57 (Keyboard) safisle- tbiln ()
(A) Alphanumeric keys /<y (B) Numeric keys Z_f¢)
(C) Function keys 2% (D) Al these (1%

(5) What is meant by Main Memory? te e Julel (5)
(A) Hard disk Li04  (B) RAM £, (C) Tap storage Gy (D)CD iy

(6) Hexadecimal number 10.q) isequalto_____ . D A | T Wb (6)
(A) 10440y (8) 1004, (C) 164, (D) 154

(7) DeMorgan Laws state that:- Bl Sl Hat @)
(A)a.(b+c)=a.b+a.c (B) a+(b+c)=(a+b)+c
C)(a+b)=a.b (D) All these (UL

(B) Window is a famous product of - Mgt (8)
(A) Apple U (B) Sun system (/%7 (C)IBM SEGST (D) Microsoft S £l

(9) How many types of DOS commands? ?uzrﬁ'flf AN (9)
(A) 1 (B) 2 (C) 4 (D) 6

(10) Extension of Microsoft Excel is:- eHEOLA (o)

(A) .doc (B) XLS (C) .bmp (D) .mdb



